CM 751

Famistt -

#FIRas | TEIPEE (1E.)
P|ESEM | PR

B5irEEsR @ P55

RER. MR | AR

TF50:

HMEEE : JREE (-20~+70°C)
BRA (+15~470°C)
EiEs (+70~+104°C)

HEEE | <50°C

BA1{EES : 1.0MPa



= = e FH e e
Model Model D”E?{%m?mr (m7h) 1.0 1.5 2.0 2.5 3.0 3.5
CM2-20 CHLF2-20 0.37 18 16 14 13 11 10
CM2-30 CHLF2-30 0.37 27 24 21 20 17 14
T
CM2-40 CHLF2-40 0.55 iH] 35 3z 28 26 23 17
m
CM2-50 CHLF2-50 0.55 43 41 35 33 28 22
CM2-60 CHLF2-80 Q.75 a0 48 4.2 38 az 28
3 R H/Dimensions{mm) -
L3 wHls L X =38 Jei
G1 a8 Model Single Phase Three Phase “,-i;a-r”
.'” B LifrzfiafHuijLz]Law
- 1h CM2-20(T) |326| 20 |100|198|326| 90 |100|194| 8.5
i I—_— 51 N
T = E e b= CM2-30(T) |344|108 | 118|198 344 | 108|118 [194 ]
__— t—\\ 1K, o ’5’1 CM2-40(T) |362(126|136|198|362 (126|136 (194| 95
49 138 Lz N\ M10x1.25 CM2-50(T) |380(144 154|198 |380|144|154|194| 495
L1
CMZ2-80(T) (398 (162 (172 (198|398 (162172 (194 10.5
- - fic F 41 i 4
S CHNPH# = ii
Model Madel D”‘;,'Tﬁﬁﬁ‘;‘” U'”%h,'l 2.0 3.0 4.0 5.0 6.0 7.0
CM4-20 CHLF4-20 0.55 18 16 15 13 10 7
CM4-30 CHLF4-30 0.75 27 25 22 19 15 10
HE
CM4-40 CHLF4-40 0.75 H 36 33 30 26 20 13
(m)
CM4-50 CHLF4-50 1.0 44 41 38 32 26 20
CM4-60 CHLF4-80 1.1 53 a0 45 410 33 24
R =HDimensions{mm) -
L3 Zpe R =3 Fos
&1 Gi/g Model Single Phase Three Phase m,.-i;;-.rlf
-'] =5 K E R
- : '||__G11|,' CM4-20(T) [335| 29 [100|198|335| 92 (102|194 o
1 — 4
R mam E _g% CM4-30(T) (362|126 136 198|362 126|136 (194 10
_— t—\\ 18, o sl CM4-40(T) |388| 153 |163| 198|380 153|183 [104] 105
4-49 138 L2 W M10x1.25 CM4-50(T) [416|180]| 190188415180 190|194 11
L1
CMA-BO(T) (443|207 | 217|198 |443 (207 [ 217 (194 12




— - i FA L EE
J|A T CHNPE! T frurd
Mode! Model D“‘,Qfﬁm?t‘” {m?l’hj 4.0 5.0 6.0 7.0 8.0 9.0 10
CMB-10 0.55 15 14 13 12.5 12 3 8
CM8-15 \ / 0.75 25 23 22 91 20 14 12
CM8-20 \ / 1.0 32 29 27 25 24 21 17
HiE
CM8-25 X 1.5 (H} 43 40 38 34 27 25 20
m
CM8-30 /\ 1.85 50 46 44 40 6 30 26
cme-3s |/ \ 2.2 56 51 48 44 43 35 28
CMB8-40 2.2 65 57.5 57 50 48 42 34
i aa 3 R fiDimensions{mm) -
P Faa i i =
Madel Single Fhase Three Phase mﬁ'&m
o1 L JLZ| 3| R D |23 ]R]D
- cme-10(T) |316| 90 | 78 |244|165|318| 90 | 78 |222[188] 12
4 al
T ol & | [cme-18(T) [346|120[ 108|244 | 165|348| 120| 108|222 185| 14
=T cme-20(T) |348|120] 108|244 | 165|3248] 120|108| 222|185 17
m -
u‘*‘ cMe-25(T) [412|150[138|254 165 |412| 150|138 232(188] 19
a-s9/f| 138 | L2 MI0Z1.23 | |cmB-30(T) |455|150]|138|239|170(412|150(138|232|165| 24
ﬁ' cma-35(T) |485|180[188]23a|170[442]180[ 168 232]188] 25
L ) [cms-a0(T) [485|180]168|239]170442|180|168]232|165| 26
T AR E P E R IE 6298 O F 3/ pump cover with G2 inlet/outlet is available
= = B F 4 =
RS CNPE S Driving motor Q 4.0 6.0 8.0 10 12 14 16
Model Model P, (kW) {rn".l'h’]
CM8-108 CHLF&-10 0.55 1 10 9 8 7 6 5
CM8-208 CHLF8-20 0.75 22 20 19 18 13 1 8
CMB-30B CHLF&8-30 1.1 4&5;2 31 29 26 24 20 16 1
CMB-40B CHLE&-40 1.5 {m) 41 39 37 33 28 23 17
CMB-50B CHLF&-50 2.2 51 49 46.5 42 37 30 23
CM8-60B CHLF8-60 3.0 62 58 52 48 42 36 30
i T
Ga8 3 _— m;Ev]'i'T_I'.fI:}l mensions{mm) -
i R =i
Madel Single Phase Thres Phase IL“‘::?!?]H
o1 lLzZ[l3| R |D L JZ]3|H]D
o CMEB-10B(T)[316| 90 | 78 (244 (165 (316| 20 | 78 | 244|165 13
I £
217 | [cms-208(T)|346|120[108| 244|165 |348| 120|108| 244|165 14
M E
?‘: CMB8-30B(T)|412|150]138| 254|165 442|150 (138|228 165 18
o,
Y, TR = D To5 | [CMB-40B(T)|442|180| 168|254 | 165|442 | 180 |168| 228|165 19
180 CME-50B(T)|515|210|198|235| 170|468 |210|198| 228|165| 27
L1
\ J[ome-608T | - | - - s62|240|228|235|165 30

TR P sk HR G 248 OO0 3 2L/ Pump cover with G2 inlet/outlet is available




% 2 cnpme (RS L RE | 6o | 70 |80 |90 [ 10 | 1 | 12| 13 | 14
Model Model P,“EW:I [I'I'"Infh}
CM12-10 \ 1.0 19 18 17.5 16 15.5 14 13.5 12 10.5
CM12-15 \ / 1.5 28 27 26 25 24 22 20 18 15
1532
CM12-20 >< 1.85 {H} 38 36 35 32 3 29 28 24 20
m
CM12-25 / \ 2.2 47 45 43 41.5 39 36 335 | 305 27
CM12-30 / 3.0 535 52 50 475 45 42 39 a5 30
s ~\
G3/8 X <F/Dimensions(mm)
mE S LR =i wfiﬂhi
] Model Single Phase Three Phase {ggg;,
e, | Lifefts[H [ ofuife]a[H]D
. i o [ |cMm12-10(T)|318| 90 | 78 |244|165|316| 90 | 78 |222|165| 13
J [ ©
Lol o
| - CM12-15(T)|382|120|108|254|165|382(120|108|232|165| 15
ﬁ_ | V| [CM12-20(T)|423|120(108|239|170|382 (120|108|232(165 23
A\M10x1.25
CM12-25(T) | 454|150 (138(239(170|412|150(138(232 (165 25
L1
L ~ CM12-30T - =1 =1=1= |472(150|138]|239|170 27
A
AR & P E R 2 6 23E O ]| 2L/ pump cover with G2 inlet/outlet is available
ELH B #l s
RE S CNPELS  |privingmotor| Q 70|80 90| 10| 11| 12| 13| 14 | 15 | 16
Model Model Pz(kW} [m‘.l’h]
CM12-10B CHLF12-10 0.75 12 [ 11.5 ] 11 | 10.5| 10 9.5 9 8 7 B
CM12-20B CHLF12-20 1.1 23 | 225 22 21 1205|1195 |18.5| 17 | 155 13
CM12-30B CHLF12-30 1.85 *ﬁHii 35 | 3451335325 31 |29.5| 28 26 | 23.5| 20
(m)
CM12-40B CHLF12-40 2.2 47 46 45 | 43.5|41.5(395|37.5| 35 |31.5|27.5
CM12-50B CHLF12-50 3.0 60 58 |56.5| 55 |52.5| 50 47 44 40 35
A R <t/Dimensions(mm)
G3/8 - — =g
_ FRS _ = Weight
Model Single Phase Three Phase {kg)
G1Y | L1|{L2 | L3| H D|LLI|L2|[LI|H | D
: - CM12-10B(T) (317 90 | 78 [244|165|317| 90 | 78 (222|165 12
3|
- ENI CM12-20B(T)|382(120(108|254|165(382|120|108|232(165| 14
E”' r CM12-30B(T)|454|150|138|239|170|412|150|138|232(165| 25
Mostes CM12-40B(T)|484(180|158|239|170|444|180|168|232|165| 27
CM12-50BT - - — [532|210|198|237|170| 30




. i e 4L &
RE e sEme e Q
Model Relcretics Drnlgrﬁm?tﬂr (mm) | 8 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24
modeil *
CM16-10(T) CHLF186-10 1.0 12 11.5 11 10.5 10 g 8 7 6
CM16-20(T) | CHLF16-20 1.5 g | 24 | 23 | 2 | 21 | 20 [ 19 [ 16 | 14 | 12
H
CM16-30(T) | CHLF16-30 2.2 (m) 38 | 36 | 34 | 33 | 30 | 28 | 26 | 23 | 20
CM16-40T CHLF16-40 3.0 50 48 46 44 40 38 36 32 28
) R st/Dimensions(mm)
= £ S
FHE g = Weight
[ Model Single Phase Three Phase (kg)
[ LiJLz|3][H[D[L1|L2[3][H] D
m CM16-10(T)|326| 96 | 81 |244|165]|326| 96 | 81 |222|165 12
2 o
3V | [cm16-20(T)|406[141|126|254|165[406(141|126|232|165| 18
1] [em1s-30(m) 495(186|171|239|170(451|186|171|232|165| 25
woofle_138 ||tz _fw10x125 [|cMmie-40T | - | - | - | - | — |556[231|216|239|170| 28
180
- : L1 -
"
- - B A el e
RES LS | orivingmotor [ @ | 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24 | 26 | 28
modal P.(kW) (m“/h)
CM20-10(T) CHLF20-10 1.0 13 | 125 12 | 11.5] 11 |10:5] 10 9 85| 7.5
CM20-20(T) CHLF20-20 1.85 ﬁHE 25 | 24 | 23 | 22 | 21 | 20 | 18 | 16 | 14 | 12
m
CM20-30T CHLF20-30 3.0 (m) 39 38 36 35 33 |31.5] 30 27 24 21
CM20-40T CHLFZ20-40 4.0 50 48 46 44 42 40 36 32 28 24
i (S
Pt zAE R <f/Dimensions(mm) Weight
: Model I Tiz[ia[a[is| 1 [Hi|Hz2|HalHa| A |8 D | (ka)
I.
G2 CM20-10  |326] 96 | 81 [138]180/244| 56 [118]195]228[108|130|165] 14
o I CM20-20 [326] 96 | 81 |138]180(239| 56 [118]195[228|108[130|165| 24
o CM20-10T |448|141|126/138]180(222| 56 [118|195|228|108{130|165| 13.5
—)
O CM20-20T |406|141|126/138|180(232| 56 [118|195/228]|108|130|165| 23.5
M10x1.25
_— CM20-30T |507|186{171[138|180(237| 56 |118]195({228/108/130[170| 28
CM20-40T [575|316|216(140}175[248] 38 [100177[210160{180|195| 33




B R AR E Lk

Floors of pressurized water supply

\f

2. PNEY

Air-condition or cooling system

| Impeller seal Ring

i Fs 2 #R F s = FR
0. MO Mame MO Flame
ESS 12 Eﬂtﬁ?ﬂ'ﬁf - 20 |EEE Shart sleeve
2 | OfzE L—,u e 21 |HEEE Axes Washer
3 |B=E 13 |SIRET el bent 22 | HEE=E Mechanical Seal
14 |HEEFEEE Impeller Fix Ring —
4 |OFE 23 |l Matar
5 S Emigie 15 | & Impeller
Inside hexagonal bolt 16 |$RE Bearing sleeve
6 | iRERE Spring washer 17 |FE&EEg  Diffusor with bearing
7 Ik ES Inlet Section 18 |EE Long slegve
8 | OEE 19 |RER{ESEE  Middle section
9 |8 E
10 | EE s Seal gesket
HE =1



